GSE Algebra 1 6.6 Notes Name:

For each problem given, tell all of the following:
- Function or not
- Whether it is linear, quadratic, exponential or none of the above.
- Describe how each graph is growing (moving)
- Create at least one way to represent it (graph, table, picture, equation)

1) A plumber charges a base fee of $55 for a service call plus $35 per hour for each hour worked during the service
call. Figure out the relationship between the total price of the service call and the number of hours worked
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6) The relatlonshlp between the speed of(ap&.sand the distance it takes to stop when traveling at that speed.

agonantial

P g
Yo Sop

Speed Stopping ] ()
(mph) Distance
(g 4
10 125 > 0
20 50 113
30 1125 — \(ﬁ_
40 200 ] o &
50 3125 . ®
60 450 1 T
70 612.5 |
x -3 =2
N [ Ja = e
y o A

Rate of change:

X2

et

9 v :aau +3)(x = 6) Q)q&%—h (——)Mgw y=
XIS g 0

Doobke e

e, m‘ TR

-3

2 iR
% Y .L':|: B 5
Xe-0.35 \;J/’z:mm

by a w.

11) Mary Bo Peep wants to build a rectangular flower garden surrounded
garden w nger than it is wide.

a. What is the relationship between the width of the garden and th of the walkwayf(—‘
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b. What is the relationship between the width of the garden anof the walkway? .Ma]Z

(L[a +2 (‘fm Wy=

UOWC

The graph has the gllowlng end
hehavior: el l

12)

f

asx— o y— o

asx——m, y—x

.
eters wide. The rower‘Na\v-‘\s

Adding—

A

13) There is an asymptote of y=0.
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